martec

LY international

Safety Equipment

New Jersey - Chicago - Dallas - Houston « Los Angeles « Miami
Costa Rica - Guatemala - Honduras






A3 me%ﬁﬁg 12: Safety Equipment

12.1: Wheel Chocks & DOCK BUMPETS ....c.eeueeiiiriieiieiiiiieiesie ettt 2
12.2: Placards, Signs, & DECALS .......cccceiierieiieiecieieetet ettt 3
12.3: Wide Load Banners & FIags........cooveriiiiieiieeiiciieseeeee ettt ae e 5
12.4: MIITOTS & ACCESSOTICS ..uveeuvieuieiietietieueesteeneesteeeesteeneesseentesseeneesseensesseeseeneensesneesseeneenseensenseans 6
12.5: Fire Extinguishers & Other Safety EQUIPMENt .......c..ccoeoiririniriniiniiniecieeceeeencsesiesesene 7

t

ipmen

=]
=2
=
>
~—
&
<
N

12

www.martecintl.com 1-800-SMARTEC info@martecintl.com 12-1



t

ipmen

=
S
=
>
~N—
=
<
/)

|

122

A3 martec

12.1 Wheel Chocks & Dock Bumpers international

12.1 Wheel Chocks & Dock Bumpers

12.1.1: WHEEL CHOCKS

1. MSP1047 10" x 8" x 6" Solid rubber with eye bolt 1. MSPAABO007324 Cast aluminum

12.1.2: DOCK BUMPERS

3 [ 8 -
1-506°] l'j [ 358"
-1 o
DT L i
8" \ 312
5-1/4
i J o
F3-3/8™
1. MTR21400098 1. MTR21400106 1. FRUWCAO0015
i 212 i“
Ty "
618 @ - 778" | |
‘ ! 2112 ‘L
. — I / 717
O
1. MTR30037 1. MTR30038 1. MTR30039
2. MSPT-43 2. MSPT-42
e N Tl ) A
TR Aot TR
on " g . () _
. o 6 : ! T 378 ! | O 1
| | | B 9
@2 - I 1 | e} A
e = -
1. MTR30067 1. FRUWCD3711-1 1. FRUXCF9657-1
2. FRU282551
[ s 3
o~

—_

FRUXCF9659-1
2. TRA30044

15

& ’
| | BF

1. FRUXUB7259 1. GLOD-4

|~ 41116"

AN

¢

1. STO04-86278-000-00

www.martecintl.com

1-800-SMARTEC info@martecintl.com



A3 martec

international

12.2 Placards, Signs & Decals

12.2 Placards, Signs & Decals

12.2.1: PLACARDS & PLACARD ACCESSORIES

o, V, R
LABELMASTER 12.2.1.1: LABELMASTER PLACARDS LABELIMASTER
Part Number Frame Placards Included Figure

LAB81-8CC Aluminum clipped corners Dangerous, Flammable Gas 2,

Poison 6, Corrosive 8,

Flammable 3
Inhalation Hazard 6
Poison 6

LAB81-8F0 Standard aluminum Flammable Liquid 3, Oxidizer 5.1,
- B Radioactive 7,
LAB81-8SF0 Split aluminum Non-Flammable Gas 2,
LAB81-8WFO White aluminum Blank.
LAB81-8WSFO White split aluminum
LAB81-10F0 Standard aluminum Dangerous, Flammable Gas 2,
- - Poison 6, Corrosive 8,
LAB81-10SF Split aluminum Flammable 3, Oxidizer 5.1,
Radioactive 7,
Non-Flammable Gas 2,
Explosive A, Explosive B, Blank.
10 Legends
LAB126-CT Standard aluminum Flammable 3, Combustible 3, E
Poison 6, Corrosive 8, o I<5)
Blank / !&‘ E
| A=
LABI126-F Standard aluminum Flammable 3, Combustible 3, Blank \ -
DUO-Flip o
=
z
12.2.1.2: J.J. KELLER PLACARDS e
<&
Part Number Frame Placards Included Figure N
JJK670-TPF-N White Aluminum Combustible 3 (.\i
Corrosive 8 e

5 Legends

J.J. Keller

12.2.1.3: PLACARD HOLDERS & ACCESSORIES

Labelmaster

Generic

1. JJK3-TPH S/S 1. LAB80-SM Aluminum 1. MTR80-SM Aluminum
2. LAB80-SMW White alum. 2. MTR80-SMW White alum.
3. LABS80-SST S/S
Labelmaster J.J. Keller Labelmaster
1. LABS80-SM/S Split aluminum 1. JJK2-TPH Gray Plastic 1. LABSI-CLIP Replacement clip

www.martecintl.com

1-800-SMARTEC

info@martecintl.com 123



t

ipmen

=
S
=
>
~)
=
S
/)

|

124

12.2 Placards, Signs & Decals

A3 martec

international

Labelmaster

1. LABS8I-FB

Fender bracket

12.2.2: SIGNS

One Sided Vinyl Placard

1. LABZRV2/1203 Rigid
2. LABIDG Perm.

1.

Two Sided Vinyl Placard
LABZVR2/#1203

THIS TRUCK

12.2.3: DECALS

e
{

IF YOU CAN'T SEE

z FIRE EXTINGUISHER \NS\DE
| WIDE ToRNS ’1 1 CAN'T SEE You
By e : PLEASE STAY BACK
17-1/4" x 11-3/4" 17-1/4" x 11-3/4" 8-3/4" x 4-7/8" 12" x 2"
1. DECI-1 1. DECI-3 1. DECl-4 1. DECI-5
PASSING R
FIRE EXTINGUISHER INSIDE 1 SIDE
AUTION! )R
THIS VE
A=1-3/4"x 10" AKES WIDE
B=2-1/2"x 16" '|§|GHT TURNS
13-1/2” x 10-3/4” 13-1/2” x 10-3/4” 10-1/2” x 127
1. LABMPDFLI000 A 1. LABRT-14 1. LABRT-18 1. LABTR-136

2. LABMPDFL2000 B

JUINAAW
AFIIAAT HOIH

10-1/2”x 127
1. LABTR-136REV

1.

MINOR
NEXT DUE DATE MAJOR_

S rvenauE psion.

rocnvo s &5 ooy &=

8" x 4"
DECAASO0GS579

1.

6-1/2"x 4-1/2"
DECXCF005112001

1.

10-3/8" x 7-1/2"

SAFSB-STK-401

www.martecintl.com

1-800-SMARTEC

info@martecintl.com



A% martec
international 12.3 Wide Load Banners & Flags

12.3 Wide Load Banners & Flags

12.3.1: WIDE LOAD BANNERS
* 13 oz. Vinyl Laminated Polyester

O O (o]

. WIDE 3 lOAD i

o 5 9 *9/16” 1.D. Pressed grommets

‘ OVERSIZE lo AD * Bright yellow with black letters

O (¢} o]
O

Part Number Front Rear Size
MCAAV100 Wide Load 187 x 84”
MCAAV102 Wide Load Oversize Load 187 x 84”
MSPWIDELOAD Wide Load Oversize Load 18”7 x 84” -
MCAAV104 Oversize Load 18” x 84” E
MCACV102 Wide Load Oversize Load 127 x 72" E
(="
JJK3-RSP Long Load 18" x 84" ‘E
=2
12.3.2: SAFETY FLAGS i
>
[
<&
9}
(g\|
B B
187 x 18” 187 x 18”
9 gauge wire with loop 9 gauge wire with loop
1. MCAFW300C Red cotton 1. MCAFW400C Bright orange mesh

® &

187 x 18” 187 x 18”
3/4” x 30” wooden dowel 3/4” x 30” wooden dowel

1. MCAFS300C Red cotton 1. MCAFS400C Bright orange mesh

& &

187 x 18” 187 x 18”
Grommet 3/4” x 30” wooden dowel

1. MSPI8X18FWG Red mesh 1. MSPI8X18FWD Red mesh

www.martecintl.com 1-800-SMARTEC info@martecintl.com 12-5



A3 martec

12.4 Mirrors & Accessories international

12.4 Mirrors & Accessories

ﬁUth'le" 12.4.1: TRUCK-LITE MIRRORS & ACCESSORIES ﬁUth'le"

L bracket included L bracket included 5/16'—24 mounting studs

5” diameter steel head 8-1/2” diameter steel head 77 x 16” steel head
5/16” female adjustable stud & bolt 5/16” female adjustable stud & bolt
1. 20TL97802 Black 1. 20TL97803 Bright S/S 1. 20TL97806 White
2. 20TL97804 Black 2. 20TL97811 Black

1. 20TL97814 Bright S/S w/offset stud

~N—

g 5/16”—24 mounting studs Heated West Coast mirror Heater element for West Coast mirror
E bright stainless steel head
=y 1. 20TL97812 6”x 16”7 1. 20TL97813 6"x 16" 1. 20TL97845
o 2. 20TL97822 77 x 167
-
=2
>
s |aan
= o
N h® 4 (e ] o]
('\i Convex 7-1/2” diameter steel head Convex 6” diameter steel head Universal mounting bracket
- 5/16” female adjustable ball stud & bolt 5/16” female adjustable ball stud & bolt for convex mirror
Bright S/S—L bracket included L bracket included Use on 3/4” or 5/8” tube
1. 20TL97815 A=23” 1. 20TL97819 Bright S/S 1. 20TL97823 Bright S/S

2. 20TL97817 A =2.1” with offset stud

Tri-pod fender mount
Use with coated convex mirror heads

1. 20TL97829 Bright S/S

12.4.2: MISCELLANEOUS MIRRORS & ACCESSORIES

Heated S/S 8" Convex S/S

1. BMF500H LH 7"x16" 1. BMF904E Standard
2. BMF500HR RH 7"x16" 2. BMF904EO Offset

12-6 www.martecintl.com 1-800-SMARTEC info@martecintl.com



A3 martec S .
international 12.5 Fire Extinguishers & Other Safety Equipment

12.5 Fire Extinguishers & Other Safety Equipment

12.5.1: FIRE EXTINGUISHERS

*Metal valve *Plastic valve
*With bracket & hose *With bracket
1. WLK466418 5 lbs. 1. WLK466413FS 2.75 lbs.

12.5.2: GRAB HANDLES

t

s
ipmen

# ( 13"

1. POL817C

=]
=2
=
>
~—
&
<
N

12

www.martecintl.com 1-800-SMARTEC info@martecintl.com 12-7



A3 martec

12.5 Fire Extinguishers & Other Safety Equipment international

t

ipmen

=
S
=
>
~N
=
>
/)

|

12-8 www.martecintl.com 1-800-SMARTEC info@martecintl.com



	Blank Page



